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Lecture 10
Slide 1
Order is 2, equation is linear and homogeneous.


Slide 3
Order 1, linear, inhomogeneous
Order 2, linear, homogeneous
Order 1, non-linear, inhomogeneous
Order 2, linear, homogeneous
Order 2, linear, homogeneous
Order 2, non-linear, inhomogeneous
Lecture 11
Slide 1




Lecture 12
Slide 1




Lecture 13
Slide 1


Second problem is tackled in the lecture!
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Double root 2
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Solution of auxiliary equation is

exp3exp

Trial solution
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Equating coefficients gives
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Solution of auxiliary equation is (as ab

ove)

exp3exp

Trial solution

yexp3

Equating coefficients gives
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Solution of auxiliary equation is (as fo

r Lecture 12 above)

exp3exp

Trial solution
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Equating coefficients gives
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